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[porpamuuii kommiexkc ABK - 5 (3.8.3) 2 8_C[h_CCP
1 2 3 4 6 7
Pa3om no rnasi 10: = 57,084 57,084
Mnaea 12. MNpoekTHi, BULIYKYBanbHi po6oTH, ekcnepTuaa Ta
aBTOPCbKUY Harnag
3 HacrtaHosa [4.34] |BapTicTb npoekTHWX pobit - 136,000 136,000
4 Hacra+osa [4.34] |BapTicTb ekcrnepTuaun NpoekTHOI AoKyMeHTaLli (K=1,1) - 18,211 18,211
5 HacTaHosa [4.35] [KowwTv Ha 3AilicCHEHHS aBTOPCLKOrO Harnsay - 16,081 16,081
Pa3om no rnasi 12: - 170,292 170,292
Pa3om no rnaeax 1-12: 3805,584 227,376 4032,960
HacraHoBa [4.38] [KowropucHum npubytok (I) 78,910 = 78,910
HactaHosa [4.39] |KowTu Ha nokputTs mhz_:_oqvmqsm:sx BUTpaT GyaiBenbHUX - 41,397 41,397
opraHisauin (AB)
Pazom 3884,494 268,773 4153,267
HacTtaHoBa [4.43] |MopaTok Ha nopaHy mmv : : - 830,653 830,653
Bcboro no wmmhm:o_s< onqovso:o Ay uo .,..x.,<:x< 3884,494 1099,426 4983,920
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